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1 + 4 & 1,375 - 227 90 1,058
- O O = 1,243 - 222 110 911
- O - & 1,092 - 214 82 796
- O = & 1,134 - 223 52 859
- o = = 1,108 1 252 35 820
- O v = 1,422 1 430 27 964
- O I = 1,285 - 293 38 954
- O = £ 4,204 - 977 120 3,107
- O-= #1-127 3,590 - 781 107 2,702
- ¥ 265 - 37 11 217
- 62 - 24 1 37
= 76 - 32 1 43
z 7 192 - 30 3 159
i 87 - 32 4 51
2k 82 - 25 6 S1
= ! 217 - 26 1 190
A3 78 - 26 3 49
1 2 73 - 25 6 42
+ 1 148 - 24 - 124
L -2 78 - 29 2 47
L - ¥ 56 - 17 3 36
- O~ & 1-T1% 1,088 - 227 33 828
- ¥ 270 - 55 2 213
- 56 - 14 6 36
= 56 - 25 2 29
z ! 262 - 33 6 223
I 96 - 50 8 38
ik 50 - 20 2 28
= 3 298 - 30 7 261




